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1) What two properties must a subset W of a vector space V satisfy in order to be a subspace of V?
(2 points)

2)  Consider the unit circle in R2 , i.e. W =  
x

y
 e R2 such that x2 C y2 = 1  .  Give a reason to explain 

why W is not a subspace of R2.
(2 points)

3a)  The solution set in R3 of the equation 
 xC yC 3$z = 0   

is a subspace of R3.  Find a basis for this subspace.  (You don't need to justify your answer on this short 
time limit quiz, but do show your work.)

(5 points)

3b)  What is the dimension of the subspace in  (3a).
(1 point)




